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Question 1             
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Alternatively: 
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Question 3   

a.  ( ) ( )
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Asymptote, 5.1==
b
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b.  ( )32log −= xay e     Let 7.232 ≈=− ex  .: 85.2≈x  and from graph 3≈y        eay elog=   .: 3≈= ya    
 

 

Question 4   
A possible sequence: 

(1)  Vertical dilation by a factor of ½.  (2)  Horizontal dilation by a factor of ½.  (3)  Reflection in the y-axis. 

(4)  Translation to the right by ½ units. 
 

 

Question 5   

a.  Require range of ( ) ⊆xg domain of ( )xf .                          Since the domain of ( )xf  is [ )∞,1   
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b.  ( )( ) 114 2
++−== xxxgfy , 

2

1

14

2

142

24

22
−=

+−

−
=

+−

−
=

xx

x

xx

x

dx

dy
 

Squaring both sides: 
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Question 6   

a.  Both AT  and BT  have the same period 24 hours  .: BA TT ≥  for a half of a period, i.e. 12 hours 
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When 1=n , ( ) 12Pr =<X ; when 2=n , ( )
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( )2Pr <X  decreases as n  increases     .: 2=n  is the greatest value  
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Question 9   
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         Please inform mathline@itute.com re conceptual and/or mathematical errors 

 

Asymptotes: 1=x , 2−=y  

 


